Decimal subtraction *

Write the difference for each problem.

616 018
59.76 57.18
~21.47 ~22.09
56.29 35.09

Write the difference for each problem.

64.92 64.21 73.71 92.63
— 26.35 —-16.02 -19.24 -67.14
45.76 73.52 98.98 53.58
—-16.18 -39.27 -39.19 - 14.39
94.87 21.74 62.35 81.94
- 65.28 -12.1 -13.16 —-128.15
62.95 81.42 48.52 61.55
— 33.37 —-25.04 - 14.49 —13.26

Werite the difference for each problem.

5152 — 12.13 = 7241 - 23.18 =
9191 - 22.22 = 53.84 — 19.65 =
41.82 — 18.13 = 51.61 — 23.14 =
8391 - 14.73 = 64.65 — 37.26 =
53.21 — 35.12 = 7731 — 28.15 =
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Decimal subtraction *

Write the difference for each problem.

616 018
59.16 57.X8
-21.47 -22.09
56.29 2509

Write the difference for each problem.

64.92 64.21 73.71 92.63
~26.35 ~16.02 ~19.24 ~67.14
5657 4819 54.47 25.49
45.76 73.52 98.98 53.58
~16.18 ~39.27 ~39.19 ~14.39
2058 54.25 59.79 39.19
94.87 21.74 62.35 81.94
—65.28 ~12.1 ~13.16 ~28.15
2959 964 4919 53.79
62.95 81.42 48.52 61.55
~33.37 ~25.04 ~14.49 ~13.26
2958 50.55 24,03 48.29

Werite the difference for each problem.

5152 - 12.13 = 39.59 72.41 — 23.18 = 4923
9191 - 2222 = ©9.69 53.84 — 19.65 = 3419
41.82 - 18.13 = 25.09 51.61 — 23.14 = 26.47
8391 — 14.73 = ©9.18 64.65 — 37.26 = 27.29
53.21 — 35.12 = 18.09 7731 — 28.15 = 4916

On this page, the most likely errors will result from a failure to use
decomposition where necessary. Watch out for misalignment when children
work on horizontal subtractions.
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